Succession Web-Quest

DIRECTIONS

1. Go to the website below:

2. http://www.psu.edu/dept/nkbiology/naturetrail/index.html
3. On the left hand side, click on “Ecological Topics”

4. From the drop down box, select “Ecological Succession”

5. Use the reading over Ecological Succession to answer the following questions.

1. This observed change over time in what is living in a particular ecosystem is…
2. Species that can grow the most efficiently and produce the most viable offspring will become the most ___________  organisms.

3. Explain the “engine” of succession. How can a species that was once successful in an ecosystem be overrun by a new species?     
4. Under the changed conditions of the ________ the previously dominant species may_______and another species may become ascendant.
5.  Ecological succession may also occur when the conditions of an environment suddenly and drastically change. List three things that can drastically change an environment.
1.      
2.      
3.      
     


6. What two forces can select for new species to become ascendant and possibly dominant within the ecosystem.

1.      
2.      
7. What are the three examples of observable evidence of succession in Penn State Kensington?

1.      
2.      
3.      
8. After you finish reading: Are there examples of "ecological succession" on the Nature Trail?, scroll to the very top right corner of the page and click “trail home”
     
Observations: 

You will now take a virtual tour on a trail in Pennsylvania. This virtual tour will help you learn to look for succession in the wild.  Click “Walk The Trail”.
Observation Point 1:  New plants are constantly "invading" this ecosystem but if these invaders are not able to conform to the controls acting on this system, they will not survive. How do they prevent weeds from over-taking the grass and other plants?        

     
Observation Point 2: What types of plants are growing at observation point 2?      Why is the amount of sunlight a plant needs relative when discussing succession?          Why does the writer point out that the Sassafras tree is a “lower canopy” tree?      (What can you infer about the necessary amount of sunlight for this plant?)      
Observation Point 3:  The heavy shading of the Red Pine trees limits how many plants can grow on the forest floor. You can see the evidence of heavy shading on the Red Pines themselves. Heavy shading as the trees have gotten taller has caused a decrease in the number of        on the tree. You can see the scars from where the branches use to be. 

Observation Point 4: Notice at observation point 4 there are very few plants on the forest floor.  Why do scientists say the forest floor lacks the plants under these dense Red Pines?     Will the pine trees always be the dominant tree type in this area of the forest?     If not, what will the new prominent tree types be and why?       
Observation Point 5: What is meant by “successional climax ecosystem” at observation point 5?      What is the most noticeable feature about ecosystems that are at a successional climax?     
Go on to Stream Trail 3- Tree Growth Rings: These annual growth rings individually represent the yearly cycle of encircling tissue growth. This tissue is also called  ________A freshly cut tree's age can be accurately determined by counting these growth rings. Further, under certain conditions the relative widths of a tree's growth rings may indicate how "good" or "bad" a particular _______was.  How could the ecologists determine how long ago a tree might have fallen?     
Observation Point 13: The Trail's population of gray squirrel is concentrated here in this oak-rich area. These animals take advantage of the rich production of oak-mast and are very active in the________and burial of acorns throughout this upper trail area.

Your Turn
Now that you have had some practice with identifying evidence of succession. You need to research plants & trees native to Kentucky. You should include hard wood trees, pioneer plants and wild flowers in your research. Must include at least 5 plants (plants that are not trees) and 5 trees.  (Use the space below for notes and picture of plants you find.
